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Multiplication of fractions
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Exercise 7 - 27.04.2020 and 28.04.2020

Complete the following exercises in your book (SHOW ALL CALCULATIONS)

S

Multiply these fractions together. Your answer should be given in sim plest fs:zrm
and written as a proper fraction or mixed number {not as an improper fraction).
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Mixed Paction Surmv
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Exervcice 9
i 2 = '_l A 3
)12 +23 -3 +2;x:
_.éxk_[— zx‘f_ Exg - _: _’_(
216 By Y3 3 ‘-F
- ’8( "‘" 52_ - Lf'S — é)(/i _L __:i’x‘s
]2 S x/2 | 2 xs
. Yo ~kyx _ 72 . Jos
) 2 N Y
- s _ 7%, _ 59
/2 G0+z 20
z 3 _ 30 E I
59{ 3 3 X ’ 7_; — 5 L’) [-:; 3+ 23 - , Py
— R % 7 )- _LO - _§’_a(;'_€_ Ty .lj
& (3 1 Sz Sxs iS
7 7xi _ J_S)XLF o ?ﬁ_ ~+ _3_5‘ — _’j
[ 2n 3yu Y [ Ky
77 _ ko _ 59 — 19
- = i ' [ &
s, ._5__7 _ HO04e = <
N [ 2- - lg——fs' 3
2 2 f { ! 7
.2z x 13 x ¢ ). &5 +2% -
|2 5 I 3l ke Gx> I7 xez
e e S i = s e
5 3 © 5»«.;’# Cf xs° (O x2
_ GGz Iy + s — 3¢
CjO‘f_gO 20
- 2 = 69 - 3y
B = 20
— [354—5 27




